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Who among the  following
emphasized that the dominance of
the ruling class is achieved by
ideological manipulation, rather
than just open coercion ? '

(1) Michael Walzar

(2) Antonio Gramecsi

(8) John Rawls

(4) Hannah Arendt

Which of the following thinkers is
related to the concept of
colonization of life world ? ‘
(1) Max Weber (2) Habermas
(3) Karl Popper (4) John Rawls

Habermas’s proposed explanations

of the-legitimation crisis tendency

are : '

@) systematic limits

(i) overloading through
universalistic value systems

(iii) unintended side effects of
administrative interventions in
the cultural tradition.

Choose the correct option :

(1) Only (@) and (ii)

(2) Only (i) and (ii1)

(3) Only (ii) and (ii1)

(4) Only (i)

Who is the author of the book

‘Black skin, white mask’s ?

(1) Habermas (2 Hannah Arendt

(3) Frantz Fanon(4) Edward Syed

Who among the following thinkers

believes that the decline of

traditional values and hierarchies
was one of the factors which
explained the advent of Nazism
and Stalinism ? ’

(1) Ayn Rand

(2) Habermas

(3) Robert Nozick

. (4) Hannah Arendt
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. . Consider the following statements

regarding Hannah Arendt’s

thought about human activities :

(1) Practical activity comes in g
hierarchy of three broad forms -
labour, work and action.

(i1) At the top of this hierarchy is
‘labour’,

(1) Only (i) is correct.

(2) Only (ii) is correct.

(3) Both (i) and (ii) are correct. !

(4) Neither (i) nor (ii) is correct.

Who among the following does not
accept trade-offs between efficiency
and equality ?

(1) Michael Walzar

(2) Will Kymilicka

(3) John Rawls

(4) Hannah Arendt

Who among the following rejects
the idea of g2 society as g
cooperative enterprise based on
mutual benefit and reciprocity ?

(1) Antonio Gramsej

(2) T.H. Green

(3) Hegel

(4) Robert Nozick

Which of the following principles

are the part of Nozick’s theory of

entitlement ?

() Principle of transfer.

() Principle of fair equality of
opportunity.

(iii) Principle  of just  initial
acquisition.

(iv) Principle of rectification of
injustice.

Choose the correct option :
(1) Only @), (ii) and (i) -
(2) Only (i), (iii) and (iv)

~ (3) Only (i), (i) and (iv)

@) @, @), (i) and (iv)
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Which of the following books is not

written by Michael Walzar ?

(1) Just and Unjust Wars

(2) Spheres of Justice

(3) After Virtue

(4) Interpretation
criticism

and social

Who among the following has
claimed that there are three types
of political theories : explanatory /
interpretative, normative and
contemplative ?

(1) Kanchan Chandra

2) Bhikhu Parekh

(3) Rajeev Bhargava

(4) Gayatri Chakravorty Spivak
Which of the following pairs is not

correct as described by David
Easton in the context of modern

. historical political writings ?
- (1) Institutionalist :

Charles H.
McIllwain

(2) Interactionalist : Allen
(3) Materialist : Dunning
(4) Values Writers : Sabine

Who among the following
represent/s the textualist approach
to political theory ?

(1) Andrew Hacker
(i1) John Plamentaz
(1ii) Qui.ntin Skinner
(iv) John Dunn
Choose the correct option :
(1) Only @
(2) Only (i) and (ii)
(3) Only (i), (i) and (iii)
@ @, (i), (iii) and Gv)
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Who among the following reaffirms

.the importance of classical political

theory to remedy the crisis of the
modern times ?

(1) Eric Voegelin

(2) Bertrand D Jouvenel

(3) Leo Strauss

(4) Michael Oakeshott

David Easton mentions ‘Surfeit of
Facts’, criticizing which of the
following ?

(1) Max Weber

(2) James Bryce

(8) Herbert Spencer

(4) Hegel

Who among the following credited
Charles Merriam as being the first
among the political scientists to see
the importance of psychology for
politics ?

(1) A.L. Lowell

(2) Graham Walas

(3) George Catlin

(4) Harold Lasswell

Consider the following statements :

() The two categories of political
scientists as empirical theorist
and trans-empirical theorist
have been. described by Robert
Dahl.

(i) According to the empirical
theorists, the study of politics
neither can nor should be
purely scientific.

(1) Only () is correct.
(2) Only (ii) is correct.
(3) Both (i) and (ii) are correct,

(4) Neither (i) nor (1i) is correct.
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“The intellectual foundation stones’

of Behaviouralism consists of :

(1) Regularities

(1) Systematization

(ii1) Pure Science

(iv) Disintegration

Choose the correct option :

(1) Only (i)

(2) Only (i) and (ii)

(3) Only @), (ii) and (iii)

4) @), (i), (i) and @{v)

The slogan/s related to post-

behaviouralism is/are :

(1) It is better to be vague than
non-relevantly precise.

() It is better to be wrong than vague.

Choose the correct option :

(1) Only (@) is correct.

(2) Only (ii) is correct.

~ (3) Both (1) and (ii) are correct.

(4) Neither (i) nor (ii) is correct.
Which of the followings are related
to the nature of post-behavioural
revolution ?

(1) Substance must precede
technique.

(ii) To bear the responsibility for
acting. '

(ii1) Politicization of the
professions. ,

Choose the correct option :
(1) Only (i) and (i)
(2) Only (1) and (ii1)

. (3) Only (ii) and (iii)

(4) (@, (i) and (1)

. “The behavioural persuasion in

politics is concerned with what
man does politically and the
meanings he attaches to his
behaviour.” Who said this ?

(1) Mulford Sibley

(2) Bernard Crick

(3) Heinz Eulau

(49) David Truman
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-“It is no help to us to set our factual

knowledge off to one side, neatly
sealed uf) in an aseptic container
and values off to the other side
where they have no bearing on
realty.”

(1) Robert Dahl (2) Max Weber
(3) Leo Strauss (4 Bernard Crick

In his book ‘A Framework for
Political Analysis’, David Easton
described political life as -

(1) A system of process
(2) A para-political system
(3) A system of behaviour

(4) A system of circumscribed
circle '

David Easton refers to the internal
political systems of groups and
organisations ag: -

(1) Sub-systems

(2) Para-political systems
(3) Political community
(4) Gate Keepers

The reason for the overload of
demands in a political system is :

(). the demands are excessive in
quantity.

(ii) though the demands are few in
number, but exacting in their
nature.

Choose the correct answer -
(1) Only @) is correct,
(2) Only (ii) is correct.
(3) Both (i) and (ii) are correct. -
(4) Neither (i) nor (ii) is correct.
= |
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Which of the following referred to
the conversion functions of a

political process analysis of Almond
Powell ?

(i) Interest Articulation

(ii) Interest Aggregation’

(iii) Political Communication

(iv) Rule making

Choose the correct option :

(1) Only (i) and (i)

(2) Only (iii) and (iv)

(3) Only (i), (ii) and (iid)"

(4) @), (), (i) and (@iv)

Which one of the following is not
the style of interest aggregation ?
(1) Secular —  Pragmatic -
Bargaining

Dominant — Non-authoritative
— Competitive

Absolute — Value — Orlented

Ideological,
Traditional

Which of the following political
systems are correct according to

@)

3)
4

Particularistic or

the degree of ° structural

differentiation and cultural

secularization as described by

Almond Powell ?

(@ Primitive systems :Intermittent
political structures. .

@) Traditional systems :
Differentiated governmental
political structures.

(iii) Modern systems : Differentiated
political infrastructures.

Choose the correct option :

(1) Only (i) and (ii)

(2) Only (i) and (iii)

(3) Only (i) and (iii)

@ (@), (i) and (i11)
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Who is the author of the book ‘The
Logic of Collective Action : Public
Goods and the Theory of Groups’ ?

(1) Earl Latham
(2) David Truman
(3 Mancur Olson
(4) Tim Aldrich

Who among the following conceived
of the group as a mas of activity
and not a collection of individuals ?

(1) Peter Odegard
(2) Charles Lindblom
(3) Mancur Olson
(4) Arthur Bentley

Who among the following thinkers
links : the elite rule with two
psychological types — ‘Foxes and
Lions’ ? ' '
(1) Vilfredo-Pareto
@) Gaetano Mosca
(3) Robert Michels

(4) C. Wright Mills

Who among the following drew
attention to the disproportionate
influence of military — industrial
complex in his study of power
elite ? '
(1) Douglas W. Rae
(2) C. Wright Mills

- (3) Joseph Schumpeter

(4) M.Y. Ostrogorski

. “The Rational Choice Theory” is

mainly associated with
(1) The Chicago School
(2) - The Virginia School
(3) ‘The Frankfurt School
(4) The.Vienna Circle
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Which of the following models

are related to the rational choice

theory ?

() Anthony
elections.

(i) Vivien Schmidt’s theory of
discursive institutionalism.

(iii) William Riker’s theory
political coalitions.

(iv) Thomas Schelling’s work on
deterrence.

Choose the correct option :

(1) (@), (i) and (iii)

(2) @), (ii) and @iv)

(3) (1), (iii) and (iv)

(4) (i), (iii) and (iv)

Down’s theory of

of

Who among the following argues
that it is not nations that create
nationalism but rather, that
nationalism creates nations ?

(1) Ernest Gellner

(2) Karl Deutsch

(3) Benedict Anderson

(4) Tom Nairn

Who among the following believes
that the idea of Indian nationalism
is an entirely modern, rationalist
and historicist idea ?

(1) Paul R. Brass

(2) Partha Chatterjee

(3) Homi Bhabha

(4) Arend Lijphart

Consider the following statement
regarding Feminism : :

(i) One of the major issue of first
wave of feminism was the
demand of same legal and
political rights for men and
women.

Betty Friedan represented the
first wave of Feminism.

Only (i) is correct.

Only (ii) is correct.

Both (i) and (ii) are correct.
Neither (i) nor (i) is correct.

(ii)

(1)
(2
(3)
(4)
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38.

39.

40.

41.

Which of the following feminist
thinker has given view that ‘the
personal which is political’ is also,
quite likely, ‘Internation’ ?

" (1) Jean Bethke Eleshtain

(2) Jacqui True
(3) Cynthia Enloe
(4) Sandra Whitworth

“The idea of absolute and universal
truth must be discarded as an
arrogant pretence.” It is the central
theme of :

(1) Feminism

(2) Post modernism

(8) Conservatism

(4) Constructivism

Which of the following theories is a
form of post-modern analysis ?
(1) Queer theory

(2) Theory of forms
(3) Rational theory
(4) Critical theory

Who among the following were
pioneers of the institutional
approach ?

(i) James Bryce

(i) A.V. Dicey

(iii) R.C: Macridis

(iv) Carl J. Friedrich

Choose the correct option :

(D @, (i) and (i)

(@) (i), (i) and (iv)

(3) (i), (iii) and (iv)

(@) (@, (iii) and (iv)
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42. Consider the following statements

43.

regarding new Institutionalism :

(1) Normative institutionalism is
associated with James March
and Johan P. Olsen.

Normative institutionalism see
institutions more as
aggregation of incentives and
disincentives that influence
individual choice.

Only (@) is correct.

Only (ii) is correct.

Both (i) and (ii) are correct.
Neither (i) nor (ii) is correct.

(ii)

(1)
@
3)
(4)

Assertion (A) : The variation
within the countries is often
larger than the variation
between the countries.

Reason (R) : The political culture

of nation states are not

homogeneous, = coherent, or
compact.

(A) is true but (R) is false.

(A) is false but (R) is true.

(A) and (R) are true and (R) is

the correct explanation of (A).

(A) and (R) are true but (R) is

not the correct explanation of

(A).

(1)
2
3)

4)

| 44. Which of the following are related

to Denial Elazar’s
political culture :

(1) Post-materialistic
(ii) Moralistic

(ii1) Individualistic

(iv) Traditionalistic
Choose a correct option :
(1) @), (1) and (iii)

(2) (i), @) and (v)

3) (ii), (iv) and (i1)

(4) @v), (ii1) and (i)

concept of
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45. Which of the following are the

46.

47.

48.

three components of political
development according to Francis
Fukuyama ? '

(1) The state, Rule of law, -
Accountability

(2) The state, Rule of law, Human
rights

(3) Rule ‘of Law, Human rights,
- Accountability

(4) The state, Human rights,
Accountability

Which of the following is known as
the process by which political
cultures are maintained and
changed ?

(1) Political development
(2) Political participation
(3) Political socialization

(4) Political modernization

“We need to make distinctions
between states to understand the
changing role of state.” Who made
this statement ?

(1) David Held
(2) Robert Dahl
(3) Michael Mann
(4) A.G. Frank

Who among the following argues
that capitalists use the state as a
mean of domination in society ?

" (1) Ralph Miliband

(2) Pierre Bourdieu

(3) Susan Strange

(4) Theda Skocpol
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49.

50.

o1.

Who among the following has given
the idea of an alternative neo-
pluralist theory of state ?

(1) J.K. Galbraith

(11) Charles Lindblom

(1i1) Wilfredo Pareto

Choose the correct option :

(1) Only ()

(2) Only (i1) and (iii)

(3) Only (i) and (ii)

(4) @), (i) and (iii)

A state which intervenes with a
view to bringing about a broader
social restructuring, usually in
accordance with the principles such
as fairness, equality and social
justice is known as :

(1) Weberian state

(2) Collectivized state

(3) Social democratic state

(4) Developed state

A developmental state is one that
intervenes in economic life with the
specific purpose of promoting

(1) Industrial growth and
economic life under state
control.

(2) Economic life wunder state
control and economic
development.

(3) Industrial growth and
economic development.

(4) Social restructuring and
economic development.

Which of the following

classifications of state is not

related to developing societies ?

(1) Bureaucratic — authoritarian
state

(2) Developmental state
(3) Weberian state
(4) Rentier state

18
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53. Who among the following studied

54.

55.

56.

the bureaucracy on the basis of

- public choice theory ?

(1) Ralph Miliband
(2) William Niskanen
(3) Eric Maskin

(49) B. Guy Peters

The functions of bureaucracy are :

() carrying out administration

(i) offering policy advice

(iii) maintaining political stability

@1v) articulating and aggregating
interests

Choose the correct option :

(1) Only (i) and (ii)

(2) Only @), (ii) and (iii)

(3) Only (i), (i1) and (iv),

@ @, (i), (i) and Gv)

Who among the following is
considered to be the father of policy
Sciences ?

(1) Harold Lasswell

(2) Herbert Simon

(8) David Easton -

(4) Charles Lindblom

Which of the following policy

approach is known as an

alternative to Herbert Simon’s

bounded rational approach ?

(1) David Easton’s ‘Black box’
model

(2) Charles Lindblom’s ‘Incremen-
talism’ model

() Geoffrey Vickers’s ~+ ‘complex

activity mode)’.

(4) Dror’s ‘Normative-Optimum

model’.

7
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| 60.

57. Which of the following groups is

considered as the core principles of
good governance ?
(1) Participation,
E-governance
(2) Accountability,

Accountability,

E-governance,

Fairness

(3) E-governance, Fairness,
Participation

(4) Fairness, Participation,
Accountability

. Who among the following has

claimed that the basic political
contradiction in modern society is
between ‘man as citizen’ and man
as private individual ?

(1) Karl Marx

(2) Antonio Gramsci

(3) Sudipta Kaviraj

(4) Neera Chandoke

“Development that meets the needs
of the present without compromis-
ing the ability of future generations
to meet their own needs.”

It is a definition of :

(1) Human development

(2) Sustainable development

(3) Political development

(4) Millennium development

Prebisch Thesis is concerned to

(1) Theories of Development

(2) Theories of Revolution

(8) Theories of Democratic
Governance

(4) Theories of Resistance

. Who among the following is known

for community based sustainable
development theory ?
(1) Giovanni Arrighi
(2) Arjun Appadurai
(3) Elinor Ostrom
(4) David Held
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Andre Gunder Frank’s theory of
underdevelopment is based on

(1) Take-off concept

(2) Metropolis satellite relations
(3) Collective actions

(4) Common pool resource

Who among the following is the
supporter of alternative
globalisation ?

(1) Jagdish Bhagwati

(2) Thomas Friedman

(3) Samir Amin

(4) David Held

‘Washington consensus’ favoured :
(1) Fiseal discipline

(1) Tax reform

(iii) Nationalisation

(iv) Free trade

Choose the correct option :

(1) (@), (i) and (i)

(2) (i), (i) and (iv)

(3) (i), (iii) and @iv)

(4 (), (i) and @iv)

Who among the following adopted a
structural approach to the study of
social revolution ?

(1) Crane Brinton

(2) Theda Skocpol

(3) Hannah Arendt

(4) Barrington Moore

“Where there is power, there is
resistance and yet, or rather
consequently, this resistance is
never in a position of exteriority to
power.” Who made this statement ?
(1) Henry David Thoreau

(2) Mahatma Gandhj

(3) Michel Foucault

(4) Gene Sharp
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In which wave is India involved in
under the three waves of
democratization given by Samuel
Huntington ?

(1) First long wave

(2) First reserve wave

(3) Second short wave

(4) Second reverse wave

Consider the following statements
regarding democratization in global
perspective :

(1) The growth of democratization

is different in different
geographic regions.
(1) Democratization is also

different for poor and rich
countries, respectively and for
countries = with different
cultural systems.

(i) is correct.

(1i) is correct.

Both (i) and (ii) are correct.
Neither (i) nor (ii) is correct.

(1)
(2)
3
“@

Consider the following statements
regarding new social movement :

(1) The peace movement, the
human right movement, the
women’s movement can be
inéluded in the new social
movement.

(i) These movement are called
new to distinguish them from
the ‘old’ labour movement.

(1) () is correct.

(2) (id) is correct.

(3) Both (i) and (ii) are correct.

(4) Neither (1) nor (ii) is correct.
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7

73

70. Which of the following is not the

71.

attitude of new social movement ?
(1) Consumptionism

(2) Post materialist

(3) Opposition to Centralization
(4) Demand for greater autonomy
Match List-I with List-IT and select

the correct answer by using the
codes given below the lists :

List-I List - 11
(Territory) (Constitutional
Amendment Act)
(A) Dadra and @  Twelfth
Nagar Haveli Amendment
(B) Goa, Daman (i) Tenth
and Diu Amendment
(C) Karaikal, (i) Fourteenth
Mahe and Amendment
Yanam
(D) Sikkim (iv) Thirty fifth
~ Amendment
Codes :

2.

@ ® © o
D O @ @i v
@ @) @ @) (v
@ G G G (i)
@ O G G (i)

At the time of the enforcement of
the Constitution of India, the states
and the territories of India as
mentioned in the first schedule of
the constitution were divided in :
(1) Two Parts (2) Three Parts
(3 Four Parts (4) Six Parts

Dr. Bhim Rao Ambedkar wanted to
divide Uttar Pradesh into how
many parts ?

(1) Two (2) Three

(3) Four .(4) Five
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75.

76.

71.

78.

Which of the following commission
/ committee recommended that
finance commission should be a

permanent body with its own
secretariat ?
(1) The First Administrative

Reforms Commission
(2) The Sarkaria Commission
(3) The Rajamannar Committee
(4) The Second Administrative
Reform Commaission

Which of the following commission

recommended that a time limit of

three years may be prescribed for

settlement by mediation of any inter-

state water dispute reckoning from

the date the dispute first arises ?

(1) First Administrative Reforms
Commission .

(2) Second Administrative
Reforms Commission

(8) Sarkaria Commission

(4) National  Commission  to
review the working of the
constitution

Which of the following is not an
ethnic movement ? -

(1) Naga Movement

(2) Gorkhaland Movement

(3) Bodoland Movement

(4) Telengana Movement

‘The Nadars of Tamil Nadu : The
political culture at a community in
change’ is a study of :

(1) Rajni Kothari

(2) Lloyd and Susanne Rudolph

(3) Louis Dumont :

(4) Robert L. Hardgrave, JR.

Who among the following is/are in
the favour of the opinion that caste
associations are agents of
modernity in a traditional society
like India ?

(1) Lloyd and Susanne Rudolph

(2) M.N. Srinivas

(3) Robert Hardgrave

(4) Rajni Kothari
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79. Who among the following pointed

80.

81.

out that organised labour as a
potential actor in class politics in
India must contend with
formidable obstacles ?

(1) Barbara Harriss — White

(2) Lloyd and Susanne Rudolph
(3) Vivek Chibber

(4) Barrington Moore

The lowest number of women elected
to the Lok Sabha was in which of the
following general elections ?

(1) Sixth General Election, 1977
(2) Tenth General Election, 1991
3):

Sixteenth General
2014

Seventeenth General Election,
2019

Election,

@

Which of the following pairs is not

correct regarding social movements
in India ?

Type of Social INustration
Movement
(1) Revolutionary — Naxalite struggle
Social '
Movement
(2) Reformist — Backward classes
Social movement
- Movement

(3) Redemptive

— Narayan Guru’s

Social movement in
Movement Kerala
(4) Alternative — Tribal movement
Social :
. Movement
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@) @ (3Gi) @v)
@ @) (@v) (i)

(1)
)
3)
(4)

|
I
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N
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82. Which of the following protest

83.

84.

movement against the construction
of big dams and displacement of
people is known as largest
‘organised protest movement in

India ?

(1) Narmada Bachao Andolan
(2) Chipko Andolan

(3) Chilka Bachao Andolan
(4) Ganga Mukti Morcha

“The cold war also operated to help
the congress party hold onto its
hegemonic position in India.”

Who made this statement ?

(1) Myron Weiner

(2) Arend Lijphart

(3) Samuel Huntington

(4) Lucian Pye

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List -1 List-1I
(State Political (Election
Party) Symbol)
(A) Jharkhand @ Car
Mukti Morcha
(B) Telengana (i) Bow
Rashtra * and
Samiti Arrow
(C) BijudJanta Dal (iii) Scales
(D) Shiromani (iv) Conch
Akali Dal
Codes :

@ ® © O
@) @) () @)
@ @ @v) (i)
@ @ G @Gv)
@ @) Gv) (i)

(1)
()
3
4@
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WA a1 U1t 3 “Tehien AMeEaTe @y
e a¥ o1 oo % qm ool S w9
iR frar ?

(1) 1980 (2) 1985

(3) 1991 (4) 1994

fi=ifea & @ 9 @ 3w o=t @
Toifa & gTeemel SifEt % geef o
TS 7 ?

(1) formE : wafes
(2)WIE‘13'R:31?ITIH_
(3)33'53‘!1%1'111:?!'&?!:"3

(4) HMT: IATY TR

WId % faftr s = fifsa @ o
a1 wfee fatadim gt/ frdast @
TR TEi R ¢

(1) 1707 wRde

(2) 2443t yfeeeT

(8) 255aT Ufdae

(4) 27531 Yfaaes

“Taa gl i i, St e Aty
faftre fed it i swem s@ §,
RrReaFwd fismwam § 1

WA H G WEl % qy § ag U

IET:CaR

(1) gem TerefisRt
(2) I T
(3) 3G igett
(4) 9™A R

frrifea & 9 fee I goae #)
“HigTCYVl e’ FHET R ?
(1) TREEERF

(2) Nafas st
(8) wifwm g

- (4) A FR

|

t— iy ——— ———
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85.

86.

87.

88.

89.

On which year Bhartiya Janta
Party has accepted ‘Integral
Humanism’ in its core philosophy ?
(1) 1980 (2) 1985
3) 1991 (4) 1994

Which of the following pair is not
correct in relation to dominant
castes in state politics ?

(1) Lingayats : Karnataka

(2) Patidars : Gujarat

(8) Vokkalingas : Tamil Nadu
(4) Kammas : Andra Pradesh

Which of the following reports of
Law Commission of India is not
related to electoral reforms /
disqualification ?
(1) 170tk Report
(2) 244t Report
(3) 255tk Report
(4) 275t Report

“The growth of pressure groups
which advocate specific changes in
public policy could also serve as a
stabilizing force.”

Who made this statement regarding
pressure groups in India ?

(1) Suhas Palsikar

(2) Ashutosh Varshney

(3) Atul Kohli

(4) Myron Weiner

Who among the following has
called Indian Federalism as ‘The
Amicable Union’ ? -

(1) Rudolph and Rudolph

(2) Granville Austin

(3) Morris Jones

(4) Myron Weiner



90.

91.

92,

93.

94.

freifa # @ B @ g e
T T et e R 2

(1) T 7EHE= uvs vifafead JAfe sfosan
Q) T Nfafeaa e writd

(3) wifelm= &= sfugan

(4) iffesa daeht sfoeam

feifera & & fran wwa & wgemEe =
T THEAR] ggeEEe IR Ieie
oA % ¥ 3 fafea e @ ¢

(1) &

(2) TFFIBH

(3) TiIE FSIch Td Gad Teleh

(4) e

Fifera & & o i e serA
fie’ (R we) Faemus Y ?

(1) €td. ynah

(2) Imd o

(8) Wt HIsd

(4) g\ S

“TAEATRAY 30T ; AvH, Re we
AR ATIH Teieh F TS P& ?
(1) Mo

(2) .49t vt

(8) Wt HIaM

(4) T == ABEE

Fifra & @ = @t g% o A
T e foreft eft @ ¢

(1) TR o hien

(2) & 3msfean 1t wfem

(3) T mdR=feT sfvga

(4) SHIhH We TqaIR T sfoea

|
|
l
i
i
|
|
I
l
|
I
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90.

91.

92.

93.

94.

Which one of the following books is

not written by Morris Jones ?

(1) The Government and Politics of
India

(2) The Politics of Scarcity

(3) Parliament in India

(4) Politics mainly Indian

Who among the following marked

the pluralism in India as ‘State

dominated pluralism’ and "Involuted

pluralism’ ?

(1) Amartya Sen

(2) Rajni Kothari

(3) Lloyd Rudolph and Susanne
Rudolph

(4) Morris Jones

Who among the following was the
founder of the ‘Centre for the study
of Developing Societies’ ?

(1) C.P. Bhambri

(2) Amartya Sen

(3) Rajni Kothari

(4) Sudipt Kaviraj

Who is the author of the book
‘Globalization India : Nation, State
and Democracy’ ?

(1) Amartya Sen

(2) C.P. Bhambri

(3) Rajni Kothari

(4) Kuldeep Chand Agnihotri

Which one of the following books is
not written by Amartya Sen ?

(1) Development as Freedom

(2) The Idea of Justice

(3) The Argumentative Indian

(49) Democracy and Development
in India

18



95. Fwifed # ¥ frae SqEreT wER

96.

97.
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T HTS 9ot A fam 7
(1) 7@y

(2) T T

(3) TE TN

(4) THEH &Y

TIEIH 3R 76 W (T8 31=awy)
Ffufem, 1959 Tm, wEm %
feife M i e s o
TGN o HCHR e & T e e
T ?

(1) ST
2) TeiteTe

(3) marwTe
(4) |

U (A) : ety saeiv s @
e # oo et 6 s
T aiEd T T R |

FR(R) : TN § <oy aorfifeaes
sfoeat %1 wew Ryl & w2
3 o # T Y FE A TR H
o aR R @R |

(1) Q) ae, fFg@®) TR
(2 A)IETR, g R)TIR |

(3) (4) 3R (R) A 7 & 7 (R),
(A) F g AT R |

@) A) IR R) I ¥ E, frg ®),
(A) i vt ST AET R |

95. Which

96.

97.

of the following was
inaugurated by Sardar Vallabh
Bhai Patel ? '

(1) Matsya Union

(2) United States of Rajasthan
(8) Greater Rajasthan

(4) Rajasthan Union

By Rajasthan and Madhya Pradesh
(Transfer of Territories) Act, 1959,
some territory of which of the
following districts of Rajasthan was
transferred to Mandsaur district of
Madhya Pradesh ?

(1) Kota
(2) Chittorgarh
(3) Pratapgarh
(4) Baran

Assertion (A) : Electoral upsets do

not easily alter the structure of
party competition in
Rajasthan.

Reason (R) : The nature of party
political competition in
Rajasthan has become bipolar
and gains for one result in
direct loss to the other.

(1) (A)is true but (R) is false.
(2) (A) is false but (R) is true.

(3) (A) and (R) are true and (R) is
correct explanation of (A).

(4) (A) and (R) are true but (R) is
not the correct explanation of
A).

(u |
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e faumay & frerifea 3 & fem
frafa § yd we w0E w1 =)
0 o e ? .

(1) ™areat faumaw fafEm, 1998
(2) sRgal fygme fafem, 2003
(3) ogat fquman faafed, 2008

(4) <Negat fourren frafem, 2013

TH § UoHifas gfeeaal awref
faft =oit @ g=fRe frefiiea ==t
Wﬁi‘l’(ﬁﬁm:

@) 1977 IR 1990 & #f=, FEfha
wfeeaat & g@t = #, T A
fafedr worifa . &1 T
ToHifos gearm & 9y faem
RN B I |

(i) 1990 % vw=E ¥ Fafeda R+
ToIA ) Torifa =1 dfau sk
AT ST Hgl o1 Fhal & |

(1) a1 () TR |

(2) o (ii) T 2 |

3) () 3k (i) T = F |

(@) (@) A G) aE R

(1) R-gefia 57 T
2) &:fix uerifos e
(3) e H=

(4) THifes A=

|
|
l
|
GR WG (TEWR) TG b1 e |
|
|
l
l
|

T fereA fomam 2
(1) fsrrer wien!
Q) Taferm wieg
(3) difsi 3NwEw

(4) T foadq
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98.

99.

10

10

0
1.

In which of the following elections

of Rajasthan legislative assembly,

Indian National Congress got the

lowest seats ?

(1) Eleventh Legislative Assembly
Election, 1998

(2) Twelfth Legislative Assembly
Election, 2003 :

(8) Thirteenth Legislative
Assembly Election, 2008

(4) Fourteenth Legislative
Election, 2013

Consider the following statements
regarding different phases of
political competition in Rajasthan :
(i) Between 1977 and 1990, in the
second phase of
competition, electoral politics
of Rajasthan began to merge
with the national political
main stream. ,
The post — 1990 election phase
can be called the third and
present phase of Rajasthan
politics.

Only (i) is correct.

Only (ii) is correct.

Both (i) and (ii) are correct.
Neither (i) nor (ii) is correct.

(1)

(1)
()
(3)
4)

‘Mazdoor

Sangathan’ is a

(1) Non-party
Organisation

(2) Regional Political Party

(3) Economic Forum

(4) Political movement

Kissan Shakti

People’s

The term ‘Superpower’ first used by :
(1) Gabriel Kolko

(2) William Fox

(8) George Orwell

(4) Walter Lippmann

18
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102. “wifees &3 § RiF & St e

103.

104.

105.
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A e T (W) TeE §
P YR @R T ATE R

I8 HoH fFaw1 @ 7

(1) MEgm

(2) I BRI S E

(8) Tameaafa

4) W &9

fr=ifea & & frem wwy Wi 35
THC AT ?

(1) sfeg®e - 1961

(2) FETEHE ~ 1962

(3) WRa-HH 35 - 1962

(4) TEA-ITR A=Y - 1983

Frifra 3 4 frg T S v @ ¥
frgmit # @ w fgra : oft T %
Fe ¥ Te-frederar i Hife A wiehy
rEr

(1) ki gfem

(2) HAMTEM AT ST I
(3) TN . u. (3ream)

4) <89 (F15)

frefhd @ 9 A B A g8 &
FIAANRE ?

() diftma AR F ammEre H

GUEATHS S
(ii) Matea H gur wfiFn & e
(iii) IR +Hifer ok e sha g
(iv) anfiies 3R Ficphs Svdiaor
TE} ey =1 =9 T ;
(1) F7a (), (i) 3 (i)
(2) *a (i), (i) 3 (iv)
(3) %A (id), (iii) 3R (iv)
@ @), (i), (i) 3 Gv)

|
|

103.

104.

| 102. “From the Stettin in the Baltic to

Trieste in the Adriatic an Iron
Curtain has descended across the
continent.”

Who made this statement ?

(1) David Truman

(2) John Foster Dulles

(3) Winston Churchill

(4) Bernard M. Baruch

Which one of t}i_e following, is not
related to cold war crises ?

(1) Berlin Crises - 1961

(2) Cuba Crises - 1962

(3). Indo-China War - 1962

(4) Exercise Able Archer - 1983

The charter of which of the
following organization has as one of

. its principles ‘Affirmation of a

" policy

of non-alignment with

- ', regards to all blocs ?

105.

(1) African Union

(2) Organization of African Unity
(3) ALBA

(4) SAARC

Which of the following factors

are associated with the end of cold

war ?

(@) The structural weakness of
Soviet style communism

(i) The impact of Gorbachev’s
reform process

(ii1) US policy and the ‘second’ cold
war.

(iv) Economic
globalization.

Choose the correct option :

(1) Only (i), (i) and (iii)

(2) Only (i), (ii) and (iv)

(3) Only (i), (iii) and (iv)

(4) @), (ii), (i) and (iv)

and cultural
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109.

(3) THET  HieEER

“sfaggrr I & fore 76ia fova sraeen
- (FY T8 3R T yeeht IR fHEd
FRITE TR ?

(1) wIfea Spamn

(2) SISl TS W

3) Prama Met=a

(4) Vi g, qW

Frtifera o & == T TP 1 TSN A&
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(1) Fig i~y 3T e <= W |

(2) THFaT IR Tt % g & R |

JTEX T % AR R foftm vt
1 Tl ST ShY ST & |

(3) I8 §Y TR deEdl <t guH TEal
% fargra W anuia 2 | ,

(4) ¥ " e H gfd & fom
faftm st g fob M wmt #
Ty Wfd 9@ % fou o
HH WS % T H FH F |

forriftna & & s 6t oi A Fred a3

TP 16T W e foe 7

(1) .. FomET IR H.w. ™

(2) .. T R TARETH YfewaR

HA.
FEOHER

(4) A8, FumEEw, f.w. m@ AR

qgh ¥ W< we (fehifin) w5t

I TP & TH & Ty wg g v’

% & 1 e aftfa frard 7

(1) *E IEE

(2) 3 THeS

(8) THH

(4) ToE o Het
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106.

107.

108.

109.

The phrase ‘New world Order’ for
the Post-cold war era was first
mooted by :

(1) Francis Fukuyama

(2) George H.W. Bush

(3) Mikhail Gorbachev
(4) George W. Bush

Which of the following is not
purpose of the United Nation ?

(1) To maintain international
peace and security.

To develop friendly relations
among nations on the basis of
equality and the principle of
self determination

The organization is based on
the principle of the sovereign
equality of all its members

To be a centre for harmonizing
the actions of nations in the
attainment of these common .
ends.

()

@3)

(4)

Who among the following signed

the United Nations charter on

behalf of India ?

(1) V.T. Krishnamachari and B.N.
Rao

(2 B.N. Rao ‘and Ramaswami
‘Mudaliar

(3) Ramaswami Mudaliar and V.T.
Krishnamachari , :

(4) V.T. Krishnamachari, B.N. Rao
and Ramaswami Mudaliar

Who has described the United
Nations peacekeeping as belonging
to ‘Chapter Six and a Half of the
United Nations charter ?

(1) Kofi Annan

(2) Dag Hammarskjold

(3) Ban Ki-Moon |

(4) Boutros Boutros Ghali

18
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110. The European Union flag has

111.

112.

twelve gold coloured stars. It is a
symbol of :

(1) the ideals of unity, solidarity
and harmony among the people
of Europe..
the number
countries.

the vision of European Union.
The identity and unity of
Europe.

of member

(2

(3
(4)

Consider the following statement
regarding BRICS :

(i) The term BRICS was coined in
2001 in a report by Goldman
Sachs, the investment Bank.

BRICS - is portrayed as a
‘guardian of the interests of
least developed countries’.

Only (i) is correct.

Only (ii) is correct.

Both (i) and (ii) are correct.
Neither (i) nor (ii) is correct.

(it)

(1)
()
3)
4

Consider the following statements
regarding G-20 :

@® At the 2009 . Pittsburgh
summit, the heads of state /
heads of government decided to
institutionalize the G-20 as the
main forum for global economic
and financial cooperation.

(ii) The permanent secretariat of
the G-20 is in Montreal
(Canada).

(1) Only (i) is correct.

(2) Only (i) is correct.

(3) Both (i) and (ii) are correct.

(4) Neither (i) nor (ii) is correct.
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113.

114.

115.

116.

According to Madeleine K. Albright

the United States of America is :

(1) the first, last and only global
superpower

(2) Benign Hegemon

(3) The indispensable nation

(4) The Lonely Sheriff

Who among the following argued
that the united states should act as
a global sheriff rounding the
“possess” of other states to handle
major international issue as they
arise ? :

(1) Samuel Huntington

(2) Richard N. Haass

(3) Bill Kristol

(4) Robert Kagan

The term
means : ‘
(1) A group of nuclear suppliers
states. '
(2) Five permanent members of
the security council with
nuclear power.
Protection afforded non-nuclear
states by guarantees made to
them by major nuclear powers.
(4) A group of states trying to
obtain nuclear technology.

‘Nuclear TUmbrella’

@3)

Which of the following countries
has not signed the Comprehensive
Test Ban Treaty, 1996 ?

‘(1) North Korea (ii) Pakistan

(iii) China
Choose the correct option :
(1) () and (D)

(2) (@) and (@iv)

(3) @), (i) and (iii)

(4 @), (i), (i) and(iv)

(iv) Iran

18
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117. As a part of its ‘Global War on

118.

- Terror’

the United States
America launched ?

(1) Operation Desert Storm

(2) Operation Iraqgi Freedom

(8) Operation Infinite Reach

(4) Operation Enduring Freedom

of

On which of the following causes is
humanitarian intervention,
Justified ? '
() Regional stability
(ii) Moral pluralism

(iii) Promoting democracy

. (iv) Global interdependence

119.

120.

Choose the correct option :
(1) (@), (i) and (iii)
(2) (), (i) and (iv)
(3) (i), (iii) and (iv)
(4) (D), (i) and (iv)

Which of the following model is
known as the current fixed
exchange rate and export led
growth model of some Asian
Countries, including China ?

(1) Bretton Woods — I

(2) Bretton Woods —II -

(3) Bretton Woods — III

(4) Bretton Woods — IV

Which of the following institutions
is intended to provide the common
institutional framework for the
conduct of trade relatlons among
its members ?

(1) World Bank

(2) International Monetary Fund
(8) World Trade Organisation
(4) Asian Development Bank
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121.

122.

Consider the following statements
regarding new international
economic order :

(i) In the 1970s, developing
countries launched a
concentrated campaign in the
United Nations General
Assembly for a New
International Economic Order.
A Summit meeting of the Non-
Alignment Movement in 1973
first called for New
International Economic Order.
(1) Only @) is correct.

(2) Only (ii) is correct.

(3) Both (i) and (ii) are correct.

(4) Neither (i) nor (ii) is correct.

(it)

Assertion (A) : The Old North-

South Division is seen as less
important in contemporary
global economy.
Reason (R) : The Global south is
moving in divergent directions
depending on ‘countries’ and
‘regions’ integration with world
markets.
(A) is true but (R) is false.
(A) is false but (R) is true.
(A) and (R) are true and (R) is
correct explanation of (A).
(A) and (R) are true but (R) is not
the correct explanation of (A).

(1)
2
@3)

4

. The Buenos Aires Plah of Action for

promoting and implementing
technical cooperation among
developing countries (BAPA+40) is
concerned with : :

(1) BRICS

(2) North — South Dialogue

(3) South — South Cooperation

(4) World Trade Organisation
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126.
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4) B © O
@ G Gi) Gv)
@) @) @Gv) (i)
@ @ (3G Gv)
@ @ Gv) (i)

(1)
)
3)
(4)
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If g gent e
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(4) =¥ 2009 #

125.

|
|
|
|
|
|

126.
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" (D) Kyoto Protocol

| 124. Match List-I with List-IT and select

the correct answer by using the
codes given below the lists :

List - 1 List - I1
(Major International (Y ear)
Initiative on the

' environment)

(A) Antarctic Threaty (i) 1972
(B) UN Conference on (i) 1959
Human

Environment
Brundtland
Commission
Report.

(©) (iii) 1987

@iv) 1997
Codes :

@A B © O

@ @G @) @Gv)

@ @G) Gv) (i)

i) @ @) @v)

@) @ (@v) (i)

In year 2020 which of the following
two countries has a Basic Exchange
and Cooperation Agreement

(BECA) ?
(1) India. -
America

(2) India - Sri Lanka
(3) India — China
(4) India — Pakistan

(1)
)
3)
(4

United State of

The ‘Indra’ series of Indian
Military exercises with Russia
began in year :

(1) 2003

(2) 2005

(3) 2007

(4) 2009
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128.

129,

130.

W 378 7 b Rret aiiem S g & ¢
(1) 13 2 14
3) 15 (4) 16

WA= % 19 9 F I\ | b
1w fore o wenfe v ¢

(1) 1987
(2) 1988
(3) 1989
(4) 1990

YA 3R 9RG & 7e7 1949 & gaaid
fioran @@ weEm A @ w R ad
e e ¢

(1) 2005
(2) 2006
(3) 2007
(4) 2008

frtifern & @ form o & S il win
7 v fom Y@ @ gwfRe wo
T W frumu & 7

(1) 1948

(2) 1949

(3) 1950

(4) 1951
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128.

129.

1 127. How many summit has been held

between India and European Union

by December 2020 ?
(1) 13 2) 14
(3) 15 4) 16

In which year the joint working
group on the boundary question

was set up between India and
China ?

(1) 1987
(2) 1988
(3) 1989
(4) 1990

The Treaty of Friendship and
Cooperation between Bhutan and
India signed in 1949, has updated
in which year ?

(1) 2005
(2) 2006
(3) 2007
(4) 2008

. In which of the following years the

Karachi Agreement related to
Cease fire Line in Jammu and
Kashmir was signed ?

(1) 1948

(2) 1949

(3) 1950

(4) 1951
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(1) “Kallipolis’

132.

133.

Consider the following statements

regarding Plato :

is the centre of
Plato’s political philosophy and
of the ‘Republic’ itself.

(ii) ‘Kallipolis’ means the good or

maximally  happy human
community.
(1) Only (i) is correct.
(2) Only (ii) is correct.
(8) Both (i) and (ii) are correct.
"~ (4) Neither (i), nor (ii) is correct,.
Which of the following is related to

the philosophy of Plato ?.
(1) Myth of metals and of Earth
born

‘ (i) The allegory of the cave

(iii) The principle of the golden
mean

(iv) The metaphor of the divided
line

Choose the correct option :

(1) Only @), (i) and (iii)

(2) Only (ii) and (iv)

(3) Only (i) and (iv)

(4) Only (), (i) and (iv)

Assertion (A) : Aristotle insists
that a Science of any subject
matter must be teleological.

Reason (R) : Teleology is ethical

theory which considers certain

moral duties as self evident and
absolutely binding, irrespective
of the consequences.

(A) is true but (R) is false.

(A) is false but (R) is true.

(A) and (R) are true and R) is
correct explanation of (A).
(A) and (R) are true but (R) 1s

not the correct explanation of
A).

(D)
@)
3)

(4)
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w
[-)]

. Thomas Aquinas,

-
o
Qo

| 134. Consider the following statements

regarding Aristotle.

() For Aristotle man is by nature
a social and political animal.’

(i) To explain human nature,
Aristotle used the term ‘zoon
politikon’.

(1) Only (i) is correct.

(2) Only (ii) is correct.

(3) Both (i) and (ii) are correct.

(4) Neither (i) nor (ii) is correct.

. Who among the following is the

author of the work De Re Publica ?
(1) Aristotle

(2) Cicero

(8) Thomas Aquinas

(4) St. Augustine

in his book
“Summa Theologiae”, portrayed the
state as :

(1) City of God

(2) Megnesia

(3) Perfect Community
(4) Koinonia

. Who among the following Thinkers

has made this statement that ‘A
ruler must learn to be other than
good’ ? _

(1) Thomos Hobbes

(2) Niceolo Machiavelli

(3) John Locke

(4) J.S. Mill

. Hobbes described liberty as the

absence of opposition in

“Leviathan”. By opposition, he

meant :

(1) Internal ° impediments of
motion

(2) External impediments of
motion

(3) Natural impediments of motion
(4) Legal impediments of motion
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139. Which of the following books of

Thomas Hobbes has the another

title ‘The Matter, Forme and Power

of a Commonwealth Ecclesiastical

and Civil ?

(1) The Elements of Law, Natural
and Politic

(2) De Cive

(3) Leviathan

(4) De Corpore

. Consider the following statements

regarding John Locke :
@ ‘Two Treaties of Government’
and ‘A Letter concerning

Toleration’ were published in
1689.

(i) ‘The Second Treaties’ of. the
‘Two Treaties of Government’

was a response to the version

of the divine right of Kings
theory developed by Robert
Filmer.

(1) Only (i) is correct.
(2) Only (ii) is correct.
(3) Both (i) and (ii) are correct.
(4) Neither (i) nor (ii) is correct

- According to which of the following

thinkers, the institution of property
was absent in the state of nature ?

(i) Thomas Hobbes

(1) John Locke

(iii) J.J. Rousseau

Choose the correct option :
(1) Only (i) and (ii)

(2) Only (i) and (iii)

(3) Only (ii} and (iii)

(4) (@), (i) and (i)
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143.

] 142. Who among the following thinkers

considered Freedom as a collective
venture ? ,

(1) JohnlLocke (2). J.J. Rousseau
(3 Robert Nozick (4) Hannah Arendt

Which of the following idea of .
Jeremy Bentham is described by
Michel Foucault as the
quintessence of the disciplinary
apparatus of the bourgeois state ?
(1) Panopticon

(2) Felicific calculus

(3) Monitorial

. (4) Chrestomathia _‘

144.

145.

Who among the following believes
that voting is a public trust which
should be performed under the eye
and criticism of the public ?

(1) Jeremy Bentham

(2) John Stuart Mill

(3) J.J. Rousseau *

(4) Hannah Arendt _
Who among the following called
John Stuart Mill ‘the saint of
Rationalism’ ? |

- (1) d. Cavailles

(2) Quentin Skinner
(3) C.B. Machpherson
(4) William Gladstone

. According to Hegel, which of the

following is related to the state ?
(1) Particular Altruism

(2) Universal Egoism

(3) Universal Altruism

(4) Universal Conflict

. Who among the following considers

civil society as ‘system of needs’ ?
(1) De Tocqueville (2) John Locke
(3) J.J.Rousseau (4) Hegel
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148. Consider the following statements

149.

regarding T.H.Green :

(1) T.H. Green is a pioneer among
modern liberal thinkers who
accept the ‘negative’ concept of
freedom.

(ii) T.H. Green defined freedom as
the ability of people to make
the most and best of
themselves.

(1) Only (i) is correct.

(2) Only (ii) is correct.

(3) Both (i) and (ii) are correct.

(4) Neither (i) nor (ii) is correct.

In which of the following works,
Karl Marx while denouncing the
bureaucratic and all powerful state
advising the proletariat to destroy
it ? :

(1) Anti Duhring

. (2) On the Jewish Question

150.

(3) Eighteenth Brumaire of Louis
Bonaparte

(4) Economic and _ Philosophic
manuscripts of 1844

Which of the following statements

regarding Gramsci’s civil society

and political society is correct ?

(1) Civil society provides consent
and political society organizes

force. :
(2) Political  society provides
consent and civil society

organizes force.

Both civil society and political
society provide consent and
organize force.

Neither ecivil society nor
political society provide
consent and organize force.

3)

@
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